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Show Script View Help

At end of Phase: [Conversion v

=1 ClassNode - scrint1406473965039

Name Value

Source | Bytecode '

public class script1406423965039 extends groovy.lang.Script {

public scriptl1406423965039() {
}

public script1406423965039(groovy.lang.Binding context) {
super.setBinding(context)

}

public static void main(java.lang.String[] args) {
org.codehaus.groovy.runtime.InvokerHelper.runScript(scry

}
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Unary minus is done last! ]
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int value = -3
value.abs()

NI

(-3).abs()
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NOBABUM PRINTLNI
println (-3).abs()

A.=3
B.3
C.3 and NullPointerkxcepfion

D -3 8 NullPor interException
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println (-3)

-3
Caught: java.lang.NullPointerException: Cannot invoke method abs() on null
object
java.lang.NullPointerException: Cannot invoke method abs() on null object
at AbsolutelyGroovy.run(AbsolutelyGroovy.groovy:7)
at com.intellij.rt.execution.application.AppMain.main(AppMain. java:134)
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println ((-3).abs())

NI

1nt value = -3
println value.abs()
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PRIM

E CUTS

boolean isPrime(def x) {
if (x == 2) return true
int 1imit = Math.sgrt(x) + 1
(2..1limit).each {
1f (x % 1t == 0) {
return false
¥
ks

true

¥

println i1sPrime("4" as Double)
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NOCMOTPUM ELUE PA3

boolean isPrime(def x) {
if (x == 2) return true
int 1imit = Math.sgrt(x) + 1
(2..1limit).each {
1f (x % 1t == 0) {
return false
¥
ks

true

¥

println i1sPrime("4" as Double)



boolean isPrime(def x) {
1f (X == 2) return true
int limit = Math.sgrt(x) + 1
(2..1l1mt).each {
1f (X % 1t == 0) {
return false
ks
ks

, true Amﬂ % a

println isPrime("4" as Double) =
B.lalse
C.NumberFormatexcep

tion
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boolean isPrime(def x) {
1f (X == 2) return true
int limit = Math.sgrt(x) + 1

(2..1imit).

each {

1f (X % 1t == 0) {
return false

¥

true
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boolean isPrime(def x) {

1f (X == 2) return true
int limit = Math.sgrt(x) + 1
(2..1limit).each {
1f (x % 1t == 0) {
return false

¥

This is closure on every element
In range, it has its own scope

true {
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BUPATBCAH

boolean 1sPrime(def x) {
1f (X == 2) return true
int 1limit = Math.sgrt(x) + 1

(2..1imit).

each {

1f (X % 1t == 0) {

¥

} This returns from the closure,
hot from method isPrime

true

§! k

a.k.a.

"local return”
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{

return from closure is ignored [t rue

ﬁboo[each method returns null, so

int Llimit = Mt

(2..1imit)

.sgrt(x) + 1
{

1f (X % 1t == 0) {

¥

} This returns from the closure,
true not from method isPrime
a.k.a. "local return”

3 :
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Wboo[each method returns null, so | 1

return from closure is ignored [t rue

int limit = My /hh.sgrt(x) + 1
: (2..1imit)Leach) {
a 1f (X % 1t == 0) {

return false

This returns from the closure,
not from method isPrime
a.k.a. "local return”

iIsPrime always
returns true

y
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http://kousenit.wordpress.com/2014/04/18/responses-to-the-closure-



390

spanish conf

MADRID MARCH
28TH & 29TH




class Conference {def name; def year}
def gr = new Conference (name: 'Greach', year: 2014)

gr.each {println 1t}

A. class=class C. Startup fallure
Conference D. Greach
name=Greach 2014
year=2014

B. W@m
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RTFS (REA
SOURCE)!

public static Collection asCollection(Object value)

D TH

[

((Class)value) .isEnum())

-}
dE

if (value == null) {...}

else if (value instanceof Collection) {...
else if (value instanceof Map) {...}

else if (value.getClass().isArray()) {..
else 1if (value instanceof MethodClosure)
else if (value instanceof String) {...}
else if (value instanceof GString) {...}
else if (value instanceof File) {...}

else 1f (value instanceof Class &&

else

{

return Collections.singletonList(value) ;

(et 5§ assule

r ’ )
g . ] .
L L2 a 0L iec

¥ y ¥
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MAX POWER

List<Integer> 1list = [56, '9', 74]

def max = list.max { item ->
(1tem < 50) ? 1tem : null

}

println max



List<Integer> 1list = [56, '9', 74]

def max = list.max { i1tem ->
(1tem < 50) ? 1tem : null

¥

println max

A. ClassCastieExceplion
B. 9

C. 56

D. null




PACKYCUII

>groovysh (('9' as Character) as Integer)
===> 57



List<Integer> 1list = [56, 57, 74]

def max = list.max { i1tem ->
(1tem < 50) ? 1tem : null

¥

println max
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List<Integer> 1list = [56, '9', 74]

def max = list.max { i1tem ->
(1tem < 50) ? 1tem : null

¥

println max

A @Hasg@agtém@g@tﬁ@m

@5%

D. null
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def random

hew Random()

def randomList = []
0..10.each {randomList << random.nextInt()}

assert randomList.max{ null } == randomlList[0Q]
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Closure xrToyYoumua () {

J

{

'"MopuapTHn. '

J

println xkToYobumnia ()
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Closure kroyYoumua () {
return {
'"MopuapTH. '
}
}
Closure xToYoOumua () |
{ ->

'"MopmuapTn. '
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THE FINAL GOUNTDOWN




class CountDown { int counter = 10 }

CountDown finalCountDown () {
def countDown = new CountDown ()
try {
countDown.counter = —--countDown.counter

} catch (ignored) {
println "That will never happen."
countDown.counter = Integer.MIN VALUE
} finally {
return countDown

println finalCountDown () .counter



A. Startup rallure

—

C.9
D.10

B. I'haf will never happen.
88@3 CountDown { int counter = 10 }

CountDown finalCountDown () {
def countDown = new CountDown ()
try {
countDown.counter = —--countDown.counter

} catch (ignored) {
println "That will never happen."
countDown.counter = Integer.MIN VALUE
} finally {
return countDown

}

println finalCountDown () .counter
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class CountDown { int counter =10 }

CountDown finalCountDown() {
def countDown = new CountDown()
try {
countDown.counter = --countDown.counter
} catch (ignored) {
ignored.printStackTrace()
countDown.counter = Integer. MIN_VALUE
} finally {
return countDown
}
}

println finalCountDown().counter

org.codehaus.groovy.runtime.typehandling.GroovyCastException:
Cannot cast object '9' with class 'java.lang.Integer' to class 'CountDown’
-2147483648
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HTO NMPOMNSOLUNO?

public CountDown finalCountDown() {
java.lang.0Object countDown = new CountDown()
try {
return countDown .counter = ——( countDown .counter)
I3

catch (java.lang.Exception ignored) {
this.println('That will never happen."')
return countDown .counter = java.lang.Integer.MIN_VALUE

}
finally {

return countDown
}



NCTONb3YU OTBET

class CountDown { int counter = 10 }

CountDown finalCountDown () {
def countDown = new CountDown ()
try {
countDown.counter = —--countDown.counter
} catch (ignored) {
println "That will never happen."
countDown.counter = Integer.MIN VALUE
} finally ({
return countDown

}
42

println finalCountDown () .counter



A, Startup fallure

NoOYUNHUIN!
_ B%Thaﬁ will never nappen.
class CountDown { int counter = 10 } EZﬁ] 474864

CountDown finalCountDown () {
def countDown = new CountDown ()
try |
countDown.counter = —--countDown.counter

} catch (ignored) {
println "That will never happen."
countDown.counter = Integer.MIN VALUE
} finally ({
return countDown

}
42

}

println finalCountDown () .counter
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public CountDown finalCountDown() <
java.lang.0bject countDown = new CountDown()
try
#countDown .counter = ——( countDown .counter)

I3

catch (java.lang.Exception ignored) {
this.println('That will never happen.')
countDown .counter = java.lang.Integer.MIN_VALUE

+

finally {
return countDown

I3

return 42



groovy / GROOVY-7065
ReturnAdder shouldn't add return if there's one in a finally block

Log In

Details
Type:
Priority:

Affects Version/s:

Component/s:
Labels:

Number of
attachments :

Description

People
(e) Bug Status: <% Open Assignee:
T Major Resolution: Unresolved Reporter:
None Fix Version/s: None
Votes:
None
Watchers:
None
0
Dates
Created:
Updated:

The following code was written for a "Groovy puzzlers" talk:

class CountDown { int counter = 10 }

CountDown finalCountDown() {
def countDown = new CountDown/()
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I Export ~
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0  Vote for this issue

1 Start watching this issue

Today 4:59 PM
Today 4:59 PM
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TOMPOBYY MOMYYUTL PUBLIC
PROPERTY.

trait Public {
public String property = "I am all public!"

J

class Property implements Public {}

Property publicProperty = new Property ()



trait Public {

public String property = "I am all public!"

}

class Property implements Public

{}

Property publicProperty = new Property ()

publicProperty.@prope@y

pubﬂﬁ@Prbﬂﬁ@_@Dp

erty

publicProperty.getPrope

rty()
publicProperty.property
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PUBLIC PROPERTY




OT - A Tbl AOKYMEHTaLUUIo
4YMTaTb He npoboBan???

The name of the field depends on the fully qualified name of the
trait. All dots ( . ) in package are replaced with an underscore (_),
and the final name includes a double underscore. So if the type of
the field is String , the name of the package is my.package , the
name of the trait is Foo and the name of the field is bar , in the
implementing class, the public field will appear as:

While traits support public fields, it is not
recommanded to use them and considered as a
bad practice.

http://beta.groovy-lang.org/docs/groovy-2.3.0/html/documentation/core-traits.html
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def key = "X’
def map = [key: 'treasure']

def value = map.get(key)
println value



def key = "X’

def map [key: 'treasure']
def value = map.get(key)
println value

A.NosuchElementexception
C.treasure
D.CuHun akpaH cmeptyr, 1000

7
1l H@F‘/ﬂ?@ﬂ/ﬂ”
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10 YMOITYAHUEIO KITKOY 9TO

IHI, NONKOBOMY!

vio i

/  def key = "x'

8 def map = [key: "treasure']
9 def value =/'gp.get(key)

Y

“&NA‘J\ )\/‘

é éprinJ
See the green? 4
Green means "String" | :
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M



SNRVIM

1.def map = [(key): 'treasure']
2.map.put(key, 'treasure')
3.map[key] = "treasure’
4.map."$key" = "treasure’
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def map
def key
def value = map."$key"
println value

[2: "treasure']
2



def map [2: "treasure']
def key = 2

def value = map."$key"
println value

A.NosuchElementException

C.treasure
D.Kernel Panic KUTY B roTKYy!
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Mo YMOITYAHMIO KNKOY 9TO
CTPUHT, NONKBOMY, ECIIV HE
]QLM¢PbIU
def map = [2: "treasure']
println map.keySet().first().class.name

java. lang. Integer
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def key = 'x'

def map = ["$S{key}": 'treasure']
def value = map['x']

println value



def key =
def map =
def value

'xl

["S{key]}": 'treasure

= map|'x

println value

A.NoSuch

Element

C.tregsure

"]

Exceplion

D.[TonyHapalll Startup error!

L
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STRING 9TO HE GSTRING, A
TVl BAKEH

def map = ["S{key}": 'treasure']
println map.keySet().first().class.name

org.codehaus.groovy.runtime.GStringImpl
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OUT OF RANGE

def range = 1.0..10.0
assert range.contains(5.0)
println range.contains(5.6)

A.Assertion Fallea

oo

C.true
D.NullPointerexception







YT K OCMBICIERVFO. LWA
1:

def range = 1.@..1®.d

O 00 N O

{println range.class.name

Run OutOfRange

- . c:\1ib\jdk\1.7.0_60\bin\java
_ﬁgroovy.lang.ObjectRangeJ

[=| 0 |

> Process finished with exit code O



YT K OCMBICIERVFO. LWA
2

| groovy-2.3.3-sources.jar ' 1 groovy ' [F1lang / © ObjectRange

5331 & 3
51332 |
=333 ¢ g public boolean contains(Object value) {
3334 Iterator it = iterator();
o 335§ : 1f (value == null) return false;
2336 while (it.hasNext()) {
2337 try {
E,338§ } 1t (Defaultlypelransformation. comparefqual(value, 1t.next())) return true;
vi339 } catch (ClassCastException e) {
340 return false;
341 ¥
342 }
343 return false;
344 o }
345

WO VTN WS "NV NP VNY P SV Y NP ST ¥ W Y WP Y N WY NG P NP Y N R VN PN NP Y S




[MYTb K OCMBICIERMIO. LUA

2

groovy 2 3.3-sources.jar ' 1 groovy  E1lang ' '€ ObjectRange !

331
332

— BB Project |

7: Structure

1333 61 &
3 334;
335
336
337
338

¥

publT

¥

oolean contains(0Object value) {

Itera
: Why no JavaDoc, Doc? )

1f (value
while (1t
try {
1t (Defaultlypelransformation. comparefqual(value, 1t.next())) return true;
} catch (ClassCastException e) {
return false;

¥
¥

return false;

W=V (PN o YV NP YD ) DY RSPy Y I ST S YN W Y NG W PR Y N Qv SN P Y Y S N




MYTh K OCMBICNEHWIO. LUAI
3:

Iterator iterator = (1.0..10.0).1terator()
while (iterator.hasNext()) {

print "${iterator.next()} "
¥

1.0 2.0 3.0 4.0 5.0 6.0 7.0 8.0 9.0 10.0
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groovy-z 3.3-sources.jar ' =1 groovy ' £l lang ' '© ObjectRange /

=T

*g 2 41 m Vel
g 242 * Checks whether a value 1s between the from and to values of a Range
=1/243 *
9 244 * @param value the value of i1nterest
w (245 * @return true 1f the value 1s within the bounds
I 246 u */
§ 247 o o public boolean containsWithinBounds(Object value) {
| 248§ 1f (value instanceof Comparable) {
v 249 int result = comparelTo(from, (Comparable) value);
250 return result == 0 || result < 0 & comparelo(to, (Comparable) value) >= 0;
251 }
252; return contains(value);
253 @& }
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ﬂ p@[ﬂd@T@ JJT[ W range of double-values broken?

LogIn
Details People
O D [ P
D \ Type: . Bug Status: ./') Closed Assjgneej
Priority: T Major Resolution: Won't Fix
(6 0 o : oo £ Paui King
Affects Version/s: 154 Fix Version/s: None
@ n [I n u @ U Component/s: None IRPOTIeS:
Labels: None [ ] Peter Fiirholz
Environment: Groovy Shell (1.5.4, JVM: 1.5.0_11-b03) Votes:
O M ﬂy@ | b I@I](e Number of 0 0 Vote for this issue
attachments : Watchers:

containNsSWYV[ s

| got following error: Dates

D:\>groovysh Created:

O Groovy Shell (1.5.4, JVM: 1.5.0_11-b03) 23/Apr/08 4:29 AM
] ' " 1 . ')
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[@..9].each { println(it - 1) }

A-1  B.O
@n[@gmg 8,7, 8, 9]

D.[-1,0, 1,2, 3, 4, 5,6, 7, 8]

0

ONOOYOTELOIN=O
OOONO OGN =






[0..9].each { println(it - 1) }

JTO HenpaBW/bHblE
CKOOKM!




(0..9).each { println(it - 1) }

[Npyroe aeno!



SIMARYITA LY PAKA

[0..9].each { println(it - 1) }
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.each { println(it - 1) }

(This IS range )




SIMARYITA LY PAKA

.each { println(it - 1) }
This is range )

This is list with one
element - the range




SIMARYITA LY PAKA

[10. .9]]|. each { println(@ -1}
This is range ) rIn the sole iteration]

kthe it is the range

This is list with one |
element - the range




SIMARYITA LY PAKA

.each { println(@ - 1D }

This is range ) (In the sole iteration
\the it is the range

element - the range And we just

[This is list with one |
{remove 1 from it ]




SIMARYITA LY PAKA

.each { println(@ - 1D }

This is range ) rIn the sole iteration]

kthe it is the range

element - the range remove 1 from it

[Thls is list with one [And we just ]

|:®, Z’ 3, 4, 5, 6, 7’ 8) 9:'
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JAVAZ, KTO [MOMHRWT?

List<Long> list = [1,2,3]
def now = new Date()

list << now

println list



List<Long> list = [1,2,3]
def now = new Date()

list << now

println list

A.Startup Fallure

B.[1, 2, 3, WERRet 17 16:15:11
CDT 2014]

C.[1, 2, 3, 1410388511456]

M.  — N
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ERASURE!

Download Ebooks
Download JDK

Search Java Tutorials

Hide TOC
Generics (Updated) « Previous ¢ Trail « Next » Home Page > Learning the Java Language > Generics (Updated)
Why Use Generics?
Generic Types Type Erasure
Raw Types

Generic Methods
Bounded Type Parameters
Generic Methods and

Generics were introduced to the Java language to provide tighter type checks at compile time and
to support generic programming. To implement generics, the Java compiler applies type erasure

to:
Bounded Type
Parameters e Replace all type parameters in generic types with their bounds or object 1f the type
Generics, Inheritance, and parameters are unbounded. The produced bytecode, therefore, contains only ordinary,
Subtypes classes, interfaces, and methods.
Type Inference ¢ Insert type casts if necessary to preserve type safety.
Wildcards ¢ Generate bridge methods to preserve polymorphism in extended generic types.
Upper Bounded
Wildcards Type erasure ensures that no new classes are created for parameterized types; consequently,
Unbounded Wildcards generics incur no runtime overhead.

Lower Bounded
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«B GROOVY MOXXHO SACYHYTb
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List<Long> list = [1,2,3]
def now = new Date()

list << now

list << "foo'

println list*.class.name

[java.lang.Long, java.lang.long,
java. lang.Long,

|



COMPILESTATIC!

=1 T

[ @CompileStatic

—idef saveTheDate() {
List<Long> list = [11, 21, 31]
def now = new Date()
list << now

nrint’ Taec+

'leftShift’ in 'org.codehaus.groovy.runtime.DefaultGroovyMethods' cannot be applied to '(java.util.Date)’
. saveTheDate()

<! 7:Structure
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DOU

double value = 3

println "$value.14".isDouble()

frue

o B

. Wiss

BL

= [

E Pl

singPropertyexception

C. ralse

U

D. MissingMethod

Exception



[MPOCEK!




[MPOCEK!

class Person{ String name }
Person person = new Person(name: "'Andres')
println "The name is $person.name”

Edouble value = 3 (Refers to property )
println "$value.14".isDouble()




[MPOCEK!

Eclass Person{ String name }
Person person = new Person(name: 'Andres')
rrintln "The name 1is $person.name”

(Refers to property )

double value = 3
println "$value.14".isDouble()

A

[Refers to property 14 of double? WTF!]




DOUBLE THE [PI

double value = 3
println "$value.14".isDouble()

A. true
B. MissingrPropertylexception

C. fém'

D. MissingVliethodexception







PO

ECIIN HE MOXX

[EPTW,

5806 © public
5807
5808 o}
5809

class Persoig
Person persc
rrintln "The
double valu
println "$vo

Tb

JAPUTLCA?




KINACG

Run

DOU

4

DoubleThePi

BL

TOCMOTPU HA TOSTRING()

E

%double value = 3
println value
println "$value.14”

?C:\lib\jdk\l.7.0_60\bin\java C

3.0
— 3.0.14

-5
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2

b YTO O3HAYA

E RSVP?




RSVP

class Invite {
1nt attending = 1
¥

def invite = new Invite()
def attendees = (invite.attending) +1
println attendees



class Invite {
int attending = 1
¥

def invite = new Invite()
def attendees = (invite.attending) +1
println attendees

A, Starséemeilure
B. 1

C. 2

D. MissingPropertyEexception




1622919515



éclass Invite {
int attending = 1

aF

def 1nvite = new Invit

def attendees = (invite.attending) +1
println attendees

1 G Rsvp

1 C:\1lib\jdk\1.7.0 60\bin\java

3 org.codehaus.groovy.control.MultipleCompilationErrorsException:

—, C:\Users\jbaruch\projects\puzzlers\puzzles\Rsvp.groovy:
@ line 12, column 17.

startup failed:

12: unable to resolve class invite.attending

def attendees = (invite.attending) +1

A

&b el (& L

1l error







A BOT NOYEMY

def 1invite = new Invite

def attendees =](invite.attending)| +1
println atteps€es
| Package name ' | Class name '

This Is class cast!






[NOYNRUT: HTO YIQaAHO, YTO
AE NMOXOXE HA KACTUHI

HAMPUMEP:

def attendees = (new Invite().attending) + 1
println attendees




[NOYNRUT: HTO YIQaAHO, YTO
AE NMOXOXE HA KACTUHI

HY, I, YBPATb CKOBKMU:

def invite = new Invite()
def attendees = invite.attending +1

P Kak y6paTb cKO6KM?!
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class MrHyde {
def me () {
return this

class Drdekyll {
}

Drdekyll.mixin MrHyde
def drJekyll = new DrJdekyll () .me() as DrJekyll

def mrHide = new DrJekyll () .me ()
println "$drJekyll and $SmrHide, are they the
same? S${ (drJekyll.class) .equals (mrHide.class) }"



A. Drdekyll@xwoooox and MriHyde@

WW they
the same? true

B. Drdekyll@oooowxx and MriHyde@yyyyyyy, are they
the same? false
class MrHyde {

sef ne() ( C. Drdekyll@oooocx and Drdekyll@soooowk, are they
| Tetem s fhe same? true

} D. NMrHyde@yyyyyyyand MriHyde@yyyyyyy, are

class proekyll (  they the same? false
}

DrJekyll.mixin MrHyde

def drJekyll = new DrJekyll () .me() as DrJekyll

def mrHide = new DrJekyll () .me ()
println "$drJekyll and SmrHide, are they the same? S
{ (drdekyll.class) .equals (mrHide.class) }"
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B KOLE MIXINMETACLASS

'-core ) src ) main ) org ) codehaus ) groovy ) reflection ) ¢ MixinInMetaClass )

public static void mixinClassesToMetaClass(MetaClass self, List<Class> categoryClasses) {

for (Class categoryClass : categoryClasses) {

final CachedClass cachedCategoryClass = ReflectionCache.getCachedClass(categoryClass);
final MixinInMetaClass mixin = new MixinInMetaClass(mc, cachedCategoryClass);

final MetaClass metaClass = GroovySystem.getMetaClassRegistry().getMetaClass(categoryClass);
final List<MetaProperty> propList = metaClass.getProperties();

for (MetaProperty prop : propList)
if (self.getMetaProperty(prop.getName()) == null) {
mc.registerBeanProperty(prop.getName(), new MixinInstanceMetaProperty(prop, mixin));

}



groovy / GROOVY-7066
MixinlnMetaClass shouldn't consider "class" as a property

Log In 1 Expc
Details People
Type: (*] Bug Status: +% Open Assignee: ﬂ Unassigned
Priority: T Major Resolution: Unresolved Reporter: n Cédric Champeau
Affects Version/s: None Fix Version/s: None o
Votes: 0 Vote for this issue
Component/s: None . o
Watchers: 1 Start watching this issue
Labels: None
Number of 0
attachments : Dates
Created: Today 5:11 PM
Description Updated: Today 5:11 PM

The following code was showcased in a "Groovy Puzzlers" talk:

class MrHyde {
def me() {
return this



WHY SO PRIMITIVE?




WHY SO PRIMITIVE?Z

def x = int
println X

1f ((x = long)) {
println X
5

1f (x = boolean ) {
println X
5




WHY SO PRIMITIV

def x = int
pﬁinic(ln }(n A ATy ),
if ((x - longy) { O- INt, long;
} println x b@@”@@ﬂ
. C. Java.lang.Intege
1f (x = boolean ) {
println X I
} java.lang.Long,




HY 3TO ACHO, A JIOHEMY?
NOPALOK

def x = 1nt

println x
£ ( \;\.- — j\_— 7:7 ) ) z,f
println x

1 G WhySoPrimitive

[i

C:\lib\jdk\l.7.0_60\bin\java
int

Process finished with exit code 0

HENOPRABOK

ef x = 1nt

&/ println x
f \ \\ — »\_‘ ﬂ:—(v ) ) zf
pDr 7"‘7’\_“1 7 X
[=v¢4
o1f (x_= boolean ) {
~

") expected

Unexpected symbol



A 9TO?

?def X = 1nt

g - ;. 7 ,
/println x

oif ((x = long)) {
println x

/£y — henlonr s
/1f (x = boolean )

¢

. -
71N
princin X




(GROOVY) TRUTH MOXXET
PAHNT, TAKYTO MPOCTO

0o

BA

Bb CKO

5OK

=N IfStatement

= |, Boolean

- (x = long)

=+ . Binary - (x = long)
: - @ V\ariable - x : java.lang.Object

@ Class - long

@ . BlockStatement - (1)
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JUMP! A.K.A. TTPOIMNABLINE
CIIOBA

class VanHalen {

public static jump() {
"Here are the ${lyrics()}"

3

def methodMissing(String name, def args) {
"lyrics’

¥

¥
println VanHalen. jump()



JUMP! A.K.A. MPOTNABLUMIE
c1§;%H;§;;%E§%C§

public static jump() {
"Here are the ${lyrics()}"

I
def methqu?ssing(String name, def args) {
e A. Here are the
I lYrics
println VanHalen. jump() E% :%ﬂ@% e gre tﬁﬂ@% Wﬂ&ﬂ[

C. Sap fallure
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| CAN'T BELIEVE YOU FELL FOR
THE OLDEST TRICK IN THE BOOK

-

<

Object i1nvokeMissingMethod(Object instance, String methodName, Objec’
Documentation for invokeMissingMethod(Object, String, Object[]) *

Ve T

P fil groovy-2.3.3 % 1
¥ Invokes the prd =
* groovy .lang.MetaClass !
* - Cbiect invokeMissingMethod(Object instance,

) @param 1nstanc String methodName, ‘l{
o @Qar’am pr’oper't Cbiject[] arguments) ;
@param ‘?p tionc Attempts to invoke the methodMissing method otherwise throws a 3
* @param 1sGette MissingMethodException {
* 4
. | Parameters: &
* @return The re instance - The instance to invoke methodMissing on/’; 7%;
¥ / “methodName—=The nmame-of the-method

Obj ect 1nvokeMiss arguments - The arguments to the method
W PG Y W W N Y VW NPT N W SV Ny VW P Y VY T DN PV Y W Y TR S

LA



| CAN"T
= Ol

TH

public static jum
"Here are the ${lyrics(OO}"

¥

—

B

E

L

EV

D)

=EST TRICK [N

E YOU

F:

=

|

TiH

=

L FOR

BOOK

Can't invoke instance

method from static context! ]

def methodMissing(String name, def args) {
"lyrics'

3

¥



/

8
9
10
11
12
13
14
15
16
17
18
19

Run

>

1

CAN'T B

THE OLD

¥

public static jump() {
"Here are the ${lyrics()}"
¥

=EST

def methodMissing(String name, def args) {

"lyrics’

¥

println VanHalen. jump()

TheMissingLyrics

C:\1ib\jdk\1.7.0 60\bin\java

Caught: groovy.lang.MissingMethodException:

groovy.lang.MissingMethodException: No signature of method:

Possible solutions: print(java.io.PrintWriter), print(java.

TRICK [N

E YOU

at VanHalen.jump (TheMissingLyrics.groovy:11)

at VanHalenSjump.call (Unknown Source)

at TheMissingLyrics.run(TheMissingLyrics.groovy:19)

<1

lang.Object), 1is(java.lang.Object), notify (), wait(), grep()
static VanHalen.lyrics () is applicable for argument types:
lang.Object), is(java.lang.Object), notify (), wait(), grep()

internal calls>

()

ELL FOR
BOOK

No signature of method: static VanHalen.lyrics({)is applicable for argument types: ()
Possible solutions: print(java.io.PrintWritei), print (java.

values:

values:

[]

[]



PEWEHUE: CTATUYECKUU
METHODMISSING

class VanHalen {

public static jump() {
"Here are the ${lyrics()}"

3

static $static_methodMissing(String name, def args) {
"lyrics’

3

3
println VanHalen. jump()



ELLE NYYWE — UCTMONb3YW
OO

class VanHalen {

public jump() {
"Here are the ${lyrics()}"

3

def methodMissing(String name, def args) {
"lyrics’

3

¥
println new VanHalen().jump()






WHAT'S THE METACLASS,

BAPYX?

def map = [metaClass: ‘frequency’]
println "What's the $map.metaClass, Bbapyx?"

A. MissingMethoa
B. What's the

Exception

org.codehaus.groovy.runtime.HandleMetaClass@Y Y'Y
YYYY [groovy.lang.MetaClasslmpl@YYYYYYY|class
java.util.LinkedHashMap]), Bapyx?

C.What's the javauuitﬁﬂnu?k@d HashiViap@XXXXKX,

Bapyx?

=\ m\ o o N

Y 7=\
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BOMObI

RESPONSIBILITY




o ok e
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[nwnTe YNTabENbHbIF .

KOMMEHTUpynTe BCe
MHorga ato bar

[Tonb3yuTe static codce
intellij IDEA!

Rtfm
Don't code like my brother



Mbl TONbKO Ha4anu! (Hago eLle
doopmy npuaymaTtb)

3acblfianTte Balun nas3nepsl,
NoAENKN N PUCYHKU

- puzzlers jfrog(®!
- @roovypuzzlers



[MASSIEPBI BCENDA MITATAT
CBOWM DOJIMA

D Seven List X <L Follow

Today, I've received an awesome Superfrog
t-shirt for posting a #groovylang puzzler.
Thank you very much, @jfrog!

+ L = B eelan?

n Lépez ¥ <2 Follow

ceived an amazing t-shirt from
j for sending them a #Groovylang
r. Thank you @NoamTenne :-)

eted %

‘ Deigote ¥  +2 Follow

As promised by @NoamTenne, @jfrog
pays its debts :-D t-shirt received for
sending them a #groovylang puzzle.
Thanks!

« 23 Retweeted “ SA BIRD, ITSA NE, s

SDPE’RFRQJ%(,




Bam noHpaBunocb?

XBanuTe Hac B TBUTTEPE
Hroovypuzzlers

- @roovypuzzlers
- (&kaborisov
- ®aruch

Bam He nopaBunocb?
/dev/null
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BCeraa nuyanbKa .

(c) CokpaTuK




